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COMMERCE - all@iry
PAPER - III Yu-I1T
Note :This paper contains Seventy five (75) multiple-choice, assertion and
reasoning/matching questions. Each question carrying TWO (2) marks.
Attempt All the questions.
A6 ol weusld dAiar (ow) sgRselld usdl, wA-vlg v sl sl wesil
B M UsAL waAlel duidll . dds wsl & () 8 8.

1 One element of the following items 1. (A<l A dd Guelisdl 2Uasir

is not related with Consumer Right : HLA A6iBa «dl :
(A) Right against exploitation by A) wiidl auly uglasl wivis

unfair trade practices
(B) Right to a  physical
environment enhancing quality

[Ria-dl »EsR
(B) ®a- €184 ULl HieHil

of life olifas dldlaredl a5

(C) Right to Express (@) w[HaBd-l xEs512

(D) Right to choose the best from D) A5 ulainigl Ave yieofl
the variety of offers sl wASIR

9 Match the items of the List I and 9yl 1 A wel 2 i FRIRIC] Rotdl

items of th_e Li.s't IT and ChO(fSG- the AL AWVl
(};c{:i;:t:optlon from the codes given e 4 2l 2
List I List I (@) vidlls8L (1) s Eua -l
(a) Privatisation (i) Agricultural (b) wedlonz (i) AUIR AARIAA
Price Policy ylREx deLsslal £
(b) Open Market (ii) Phasing out sl
Operations trade barriers (¢) aydH sl (iif) asEl
(¢) Minimum Support(iii) Purchasg and (B o190l ol Wl
Price Sale of Govt. 0y i
Securities o
(d) Liberalisation (iv) Encourages (ii) Gerdlsral (i) wéﬁ{&dm{a,ﬂ%ﬁ
entrepreneurship i
Codes @ B (© @
(@) b) (c) (d) (A) () (17) (i)  (w)
@ O @ @ @ o ® @ @ @ @
o - o = o © G O @ @
Comm .—III 8 [P.T.O.]




3. Assertion (A) : The Structural
Adjustment
Programme
(SAP) has been
forced on the
economy

Reason (R) : Excess of con-
sumption and
expenditure over
the revenue,
resulting in
heavy govern-
ment borrowing

(A) Reason given is not an

appropriate explanation

(B) (R) is one of the reasons for (A)

(C) (A) and (R) are not at all

related

(D) (R) is not appropriate measure

for structural adjustment of the

economy

Comm —III
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Drivers of globalisation include :

(/) Establishment of W.T.O.

(ii) Regional Integration

(1i1) Private Law

(iv) Growth in FDI

(v) Growth of MNCs

Select the appropriate set of drivers :
(A) (@), (), (i)

(B) @), (1), Gv), W)

(C) @), Gir), (v)

(D) @), (D), (v), (v)

Which inventory issue pricing
method assumes that the inventory
units available for sale are
homogeneous ?

(A) Specific identification method
(B) Last-in, First-out method

(C) First-in, First-out method

(D) Weightage—average. cost

method

Comm .—II1

doacllszuirl AlASHL MG AL O
@) W.T.0. -l 2alu-l

(i) &-llu »isls

(ii7) vl s1ael

Gv) FDI 4l dls

) MNC -l 9l

qou, daAlasidl yyed wie s
(A) (@), (), Qi)

(B) ), i), Gv), (v)

(C) (D), (1), (fv)

M) &), (i), Gv), ()

el oas Gl §9 uglan
Qapel 12l HlaaHaldar ssHl
MsAvlL el O Al dlze sl
214 89 7

(A) v wiiow Ygld

(B) el pds, uuH Ads Ugld
(C) MY »as, HaH Aas dald
D) clid—uUe usdz veld
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The journal is called :

(z} Day Book

(i2) Book of Principal Entry
(tii) Book of Prime Entry
(fv) Book of Original Entry

Select the correct answer from the

codes given below :

(A) (@), (7id) and Gv)

(B) (i), (iii) and (iv)

(C) @), (1) and (iii)

D) @), () and (v)

Cash Flow Statement is prepared
for :

(A) determining the net working
capital between two balance
sheet dates

(B), determining the net fund
between two balance sheet

dates

(C) determining the net cash flow
between two balance sheet

dates

(D) determining the net operating
profit between two balance
sheet dates
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AHALUA sdal] 2d @ ¢+
@ S o5

@) Hvd UMY oS

@) MW IS oL

() YOoid UMY o8

A 200 AstiHi] W gde)
yieofl s :

(A) (@), (D) &1 (i)
(B) @), (i) 2 (iv)
(©) @), @) &1 (@)
D) @), @) 21 (o)
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-
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8.  Marginal cost is also known as : 8.
(A) Period cost
(B) Variable cost
(C) Fixed cost
(D) Absorption cost

9. Margin of safety is the difference g

between......ccooeevvvnns .

(A) Marginal Revenue and

Marginal Cost

(B) Expected Sales and Actual

Sales
(C) Expected Sales and BEP Sales
(D) Actual Sales and BEP Sales

10. The elasticity of demand over the

demand curve is :
(A) Different at each point
(B) Same on each point

(C) Constant for each demand

curve
(D) Zero

Comm.—11I 7

10.

AlMid usdR wlaviy «© ¢
(A) AHYU USdR

(B) Aldd usd:

(C) 2l usdr

D) ¥Hdll usdr

HAalddldl sual ¥ g2 -l

dsldd 9.
(A) AHid 2as 2 AHid UsdR
(B) A A28 A WU AR

() 2R dal A wunde Big

LBl
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SEIIE]

wioy as (@AM Hidll Akl
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11. If for a firm the sunk coét_ of a

12,

machinery is Rs. 6 crores, its

opportunity cost would be :
(A) Rs. 6 crores

(B) More than Rs. 6 crores
(C) Less than Rs. 6 crores
(D) Zero

A monopolist discriminates between
two £ila'rkets and charges Rs. 10 per
unit in Market ‘A’ and Rs. 15 per
unit in the market ‘B, fhen price

elasticity of demand is :

(A) More elastic in Market ‘A’ and
less elastic in Market ‘B’

(B) More _elastic in Ma.rket ‘.B’ and
less elastic in Market ‘A’

(C) Equal elastic in Markets ‘A’ and
R’

(D) Unit elastic in Market ‘A’ and

perfectly inelastic in Market ‘B’
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-,
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13. In a monopoly market it was found 13 315 BisiBsR dml HoLl ANAA

that the price elasticity of demand 8.5 il sl N
—0.75 L LEslY d¥ddl &0 ¢
was — 0.75. Then the monopoly G “ b Bl

power would be : (A) 1.33
(A) 1.33
B) 7.6
(B) 7.5
C) 1
(C) 1
D) 75 (D) 75
14. Match List-I with List-II and choose 14. Qi[i{dot A yAl-2 Aol i A3l
the correct option from the codes PISENCIE
riven below it :
g ydl-1 Yl
List-1 List-II . _

(i) Different items (@) Quantitative ® @%’l ﬁa LT @) s
having common classification AU GBSl €9 A edfl aalsz8l
characteristics are claaHl v 6
b ht togeth ; -

FOREhY TORsEEE Gy wissiue{lu Rl (b)) R Sl

(i) Systematic arrangement (b) Qualitative ‘
of statistical datain classification Al #A vl veld- asllszal
columns and rows Azl atigas(l

(fii) Classification ofdata  (¢) Tabulation of i) YN w2 vl @ wkd-l
as number of males and data . 7 )

wRdld adllsa SL8LcHS YA

females in sample

Goy Gl waudl el @) Auledld

(i) Classification of number(d) Classification

of students according to of Data Qv aaflszel adflszul
height £S -
Codes @ @ G G

@ G G @
W @ ®» © @
® 6 @ @ © ® & @ @ ©
© © @ @ ® © @ @ @ ©
D @ © ® @ m @ © ©® @
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15. Match List-I with List-II and select 15 YAl-9 A YAl Audl A AR

the correct answer from the codes

B2 w4l :
given below it : _
YAl-q yAl—=
List-I List-IT i :
_ @ el wiedlil diedl @) ogudly
i} Lottery method of {a) Multi-stage
selection of sample sampling ugld _ rilsREL

@) Selecting sample from () Simplerandom ) gg[_ﬁzﬂq[a[[ Ayl (3) AUlg UgA9
te list and sampli . &
complete list and first sampling el ey ek C{Qgi,'ﬂ L5 28
item to be selected _ .
4539 Ued(] vie
randomly and thereafter

FULR OUE ARV ViR
to be selected with

evenly spaced interval wiedl
(i) Sample to be selected {¢) Systematic @) ueadl -5 534 (c) ugfamf; e %9
from particular state random samp- YR el 215 vy, A58
of predetermined ling | ; .
U yH el yieall
house-holds :
S
Codes :
6 6@ G & G @)
(4 @ ) (e) . (A) (@ () (c)

B ©® © (@ B ® © (@

(C) (e) (r) (b) )

€ © (@ (&)
D) @ (o &)

D) (a) (c) (b)

Comm .—IIT 10




16.

17,

18

Area under normal curve for

X + 16 covers : -
(A) 99.73% of area
(B) 95.43% of area
(C) 68.27% of area
(D) 34% of area

If in a regression line y = a + bx,
where b is zero, then the regression

line will :

(A) pass through the origin

(B) be parallel to X-axis

(C) be parallel to Y-axis

(D) have the same intersection

point on X-axis as well as Y-axis

18.

Which one of the following softwares

is used for research analysis ?
(A) SAP
(B) ERP
(C) SPSS

(D) TALLY

Comm.—I11I 11

16.

17.

ALHLL AsIvil Hle X+ 1o
Rz 2iafd 53 8.

(A) [Qadiz+l 99.73%
(B) [Qxdiz 95.43%
(C) ARl 68.27%
D) [Qdir-l 34%

Ry = o + bx Mcdlad JuUMl b &
P et

™y in ~

& dl A Hulddd vl
(A) 4O (origin) Hidl waR
(B) X-axis % AUuid s

(C) Y-axis A AHidR el

(D) A X-axis 2 Yoaxis UR 215 %

felblg el

sl Redrls e e Al sul

As2d -l Guyio w8 7
(A) SAP
(B) ERP
(C) SPSS

(D) TALLY

[P.T.O.]




19. The main advantage of functional

organisation is :
(A) Specialisation
(B) Simplicity
(C) Expert advice
(D) Experience

20. Delegation of Authority is linked

with :

(A) Managerial planning

(B) Management co-ordination
(C) Management control

(D) Scientific management

21. Techniques of management control

are useful in :

(A) Selection of plant location

(B) Identifying - appropriate
technology |

(C) Profit planning

(D) Conducting shareholders’

meetings

Comm.—III

19. [Buielle eareldatni A 14 Mg

Al Ha 9

A) [Qlfkesy
(B) AUl

(C) [Fwaiid-l ueg

(D) 4™

20. RAxld [Qd-dlsre A U8 2 ws

Asudg ¢ ¢

(A) dAlasly syl
(B) Aauasly sy«
(C) Auasly iga

D) dsilHs Aque-

21, dudasly gadl siduglizd Qi

sl Asui Guyell & -

(A) stxvunlAl aoui] yigallni
(B) oY 25-1cll® o]
(C) AASLAL AR

(D) AzslesAl Aotlpllg Al

534141




99. Motivational process and not the 22

23

motivators as such is associated with

the :

(A) Need-hierarchy theory
(B) Two-factors theory
(C) ERG-theory

(D) Expectancy theory

Magazines and Journals are 23.

suitable for advertising products of
............... types purchased by -orﬁy a

particular section of society.
(A) Special -
(B) Specific
(C) General

(D) None of the above

24.

Role of Marketing has become vital

because of changes and increased :
(A) Technology

(B) Competition

(C) Both (A) and (B)

(D) None of the above

Comm.—I11 13
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(A) w3RudiHl siAuasl Rigid
B) —en 4o Rald

(C) ERG-Risid

(D) alzaijusial Reid

A3 oA Fled A AS U UL

AL 4L B Alssu s et

HIZ ol 8
(A) [Afare
(B) ALssA
(C). AL

(D) Gulsd WSl »s ud el
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25.

26.

27.

T

Informing the buyers of new brand
and new package is the.....................

of sales promotion.

(A) Objective

(B) Method

(C) Application

(D) None of the above

Producers of garments often
Organise.................. shows to promote

their products.
(A) Charity
(B) Orchestra
(C) Fashion
(D) Movie

Salesman creates more.,..: .............
which makes planned and regular

mass production possible.
(A) Demand

(B) Sales

(C) Price

(D) Consumer

Comm.—II1

25.

26.

27.

el YelaHl Adl @is w1 qy
YZoy (A9 HiRaouz sat w2 A
Ul sy As uRen wqeez 8 ?

(A) 8q,

(B) uald

(C) Gyl

D) GugAsd ULl Asys &l

dulz sYSiFl Gawtesl Widi-l Aeigld
AL GrlFd/elvmd sal HIS oA
walR A Usl 51 s Aau
UL Sl Sld B

(A) Avildd
(B) dlede
(C) 3+ al
(D) 2dlt 9l

AAHA o A €9 % YA
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ASY olAld 9

(A) HioL
(B) Q=
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98. Match List-I with List-II and choose
the correct option from the codes
given below it :

List-I List-1X

@

Net Income approach (@) K, is rising with
increase in debt

(II) Net operating income(®) K, and K,

approach remain constant
irrespective of
proportion of debt
(III) Traditional theory (¢} Arbitrage process
(IV) M.M. approach (d) Optimal capital
| structure
Codes :
(O (D Jun avy
@a b @ @ O
B @ B © @
< @ @ ® (a)
O @ (© (@) (b)

29. According to CAPM the cost of

equity is derived as :
(A) R, + R,, - Ry B;
B) Re + Ry, - Ro B,
(C) R, + RA;

(D) Ry + R,B;

Comm.—I11

98. wAl-1 A yaAl-3 Aaedl 2 WAl

Gq2 WAl :

yAl-1 yAl—
@ Aol wiias wWRPM @ Bl 4alzL E
Ke Hi 44121
an Al duesias ¢ sl
w6411 Aold, Ke i

K, e € 6

) s Razazele) aalel—ulEu,

(IV) M.M. w3 (d) Svedq sl
oy
518
(M 3dn dm av
@a o @@ @ ©
M) @ ® © @
© © @ ©® (@
o @ e @ O
29. CAPM w18l S5l usdz e
9
(A) R, + R, - RJ B
(B) Ry + (R,, - Ry B;
(©) R, + RM;
D) Ry + RyB;
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30. Match List-I with List-II and choose
the correct option from the codes

given below it

List-I List-IT
(I)  Pay-back method {@) Shareholder
wealth  maxi-
misation is
directly examined
(II) NPV method (b) There can bhe
more than one
outcome even in
single calculation
(II) IRR method (¢) Useful in case of
capital rationing
(IV) Profitability Index () Useful in case
method where rlm';e of
technological
obsolescene is fast
Codes :
I dn Jm av
(A (@ @ (e) (b)
B @ © @ (@
€ © ©® (@ @
D) @ (a) (b) (c)
Comm.-III
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31.

32,

In the Miller-Orr model of optimum
cash balance, return point value
is @
(A) inversely related to interest
rate

(B) inversely related to holding cost

(&)

inversely related to transaction

cost

(D) inversely related to cashflow

variance

According to the Gordon model, the
price of the share is dependent

on :

(A) Dividend pay-out ratio and

earnings per share

(B) The required rate of return by
shareholders and expected rate
of return on investment by

firms

(C) EPS at the end of the year,
dividend pay-out ratio, rate of
return required by
shareholders and expected
rate of return on investment by

firm

(D) Target pay-out ratio and EPS

_ Comm.—III
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- (B)

Svodd UsS—asl Mar—»liz

Hisaul urdlig Yed :

(A) el 82 Wl [Ruld deig @d
£
B) a2t w2l wd [Quld Heia g21d
¢
() daslz vwd wd [@Quld deiy

g1d 8

(D) sS Male [Qadd w8 [@Qudld
doig &d
MEA—H1Sd uHel w2l [FHd

A14Rd 9

(A) e asaell aeiaz 2 uld

qU3 VLS

QU—w1esA glzl 2AlaSs dudR
2 9 Wl Fde u -l AU

Qud &R
(©) asii-d EPS, dileiia ysaul
aeliniz, uR slesd glrl s
QiR 62 2 AL (RAsgL Uzl

UYL and &1
(D) @guis asasll delidr i EPS
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33.

34.

35.

The Basket training method

means :
(A) Development of decision skilled
(B) Development of resources

(C) Development of production
(D) Development of institute

Which one of the following is not
included under functions of Human

Resource Management ?

(A) Planning

(B) Organising

(C) Profitability

(D) Recruitﬁent

“Rage Committee” is related to -

(A) Individual differences in

Indian industry

(B) Working conditions in Indian

industry

(C)

Social security in Indian

industry

(D) None of the above

Comm.—I1]
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Usl sul Asell w09 Ul el ?
(A) i+
(B) ddlds
(C) SLs1R 5
&l

UL sBR A euldd V4 56 s

olloid Y18 AoilAd & -

(D)

A) Mdly Galalvdi 3oy
HaMel
Hidly Gellotimi 41400+
Y[ [

(B)

(C) cudly Gelloimi APy s HeumR,

(D) Bsd Ul L ]




36. Match List-I with List-II and select

the correct option from the codes

given below is :

List-1

(@) E.F.L. Brech

(5) Keith Davis

(1)

(2)

List-II
Human Behaviour
at Work
Principles and

Practice of

Management

36. wel—1 A wdl-z wd Audlaeudl

43 safda S1S alzl wERl Gar ude

7Y 3
yIgl—1

S5 21y, oY

fe slay

(1)

(2)

ylel—=2

s wr il

adgLs
AAa Rgidl w4

AYELR

(¢) Chesterl. Barnard (3) The Elements of

@ Aezaadls (@) adlaed aes dedl

Administration
_ @ wzAs 65 @ sRsRlu sl
(d) L.F. Urwick (4) The Functions of _
the Executive 515
Codes : (@ (b) (c) (d)
(a) (b) (c) (d) (A) (4) (3) (2) (1)
B @ (2) (3) (4) . ;
() (4) (1) 3) (2)
c) @ (1) (3) (2) ;
] . D (2) (1D (4) 3)
(D) (2) (1) (4) (3)
37. The Universal banking covers : 37. adeny Al %{HLC\{Q{. AR &
(A) Banking across the globe (A) [Ara 2 650l
? ‘ ™ a
(B) Banking for all the customers (B) olal Alssl Hle G
(C) Providing all banking services (©) ol Aol Aavil suudl
(D) Banking for Universe (D) SleMlSs Hle s[5
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38.

39.

40.

I

NABARD is a - 38.

(A) Rural Bank

(B) Reﬁnancing Institution
(C) Commercial Bank

(D) Policy Making Bank

The SARFESAI Act 2005 empowers

L4

banks to :

(A) increase NPAs

(B) offload NPAs on others
(C) recover NPAs

(D) dilute Assets

Which of the following is not a

40.

source of funds for State Financial

Corporations ?

(A) Income from investment
(B) Refinancing

(C) International markets

(D) Reserve Bank of India

Comm .-III 20

AULS s

(A) wle os &

B) yelda ey &

(C) dwzl 6l &

D) -l el s &
SARFESAT 4131 2005 61517 Al »{m
9

(A) NPA qgl4dl w2

(B) NPA - oflo Guz slqa w12
(C) NPA Y@ Uit $al W2

D) Masdid eqdl sa1 32
AL U5l 5y uwd eudly B
e o{sing wlid Al

(A) .Q\LSL‘SLH'LEH ICE

B) Y-l

() widandly o)

D) Rxd 6y 2+1s Slsy




41.

42.

43.

In terms of ‘GDI world’s largest free 41

trade area 1s :

(A) NAFTA

(B) SAARC

(C) ASEAN

(D) EU

To join IFC, a country.............. ; 42.

(A) Must first be a member of the

WB
(B) Have signed IFC’s AOA

(C) Have deposited instrument of

acceptance of the AOA

(D) All of the above

Which one of these is not an original/  43.

founder member of “ASEAN” ?

(A) Indonesia

(B) Malaysia

(C) Korea

(D) Singapore

Comm.—11I 21

GDP-L Al [Rsasi Hill Hig 4sd

qulz &l 69

(A) NAFTA

(B) SAARC

(C) ASEAN

(D) EU

[FC Hi A6 oiddl Hie ds & ¢
(A) aeS 65l Aoy dlal ASH

(B) IFC L »lEsa 218 S EDER
Guz Al $3d BOH

@) s s ABA UL

aefl slletl GusE L 539 A
(D) BuUAL ol ¥

{31 U4 suL “ASEAN” <L 4O R4ULMS

woy 4l ?
(A) 6+_51$1&m
B) Halzu
©) sz

(D) [Reuyz

[P T0;]




44. Match the following of List I and
List IT and choose the correct option

from the codes given below :

List I List 11
{Concepts) (Disadvantages)
{a} Joint Venture ({) It may exhaust
resources
(b) Foreign Trade (i) Unnecessary capital
movement

(¢) Fixed Exchange  (iii) The amount of profit
Rate potential are reduced
(d) Flexible Exchange (v) Transient nature
Rate
Codes
@ @ @ (@
Ay @) G () (D)
(B) (@) (1) (fv) (@)
(€ Gv) G G (1)
D) @ G G G
45.  Product life cycle theory of ‘FDI’ was
propounded by.............. .

(A) Adam Smith
(B) Raymond Vernon
(C) F.W. Taussig

(D) Heckscher-Ohlin

Comm .—III

44,

(a)

(b)

(e)

(d)

(f3, gl 4 29 Y1l 2 Al Al

AV
ylel q el 2
(vay1¢)) (Slralell)

AY s Al @ LAl i) 530
_ A3
[azell duiz @) B3l 4ol anqaa
Rez @A er i) @il wyoua-m
Yelsl 4y £
uRadddlla o) srud ush

[QlaHy ez

51S -

45.

(@) (b) (c) (d)
A @) & Gv) G
(B) (D) (1) (v) G
C)  Gv) G (ir) ()
M @ G G G
‘FDI’ <l el ddusl [Heid
T gll uQuilza o).
(A) sy [y
(B) 34~S 93+
(C) »ls.s0q. 2ol

D) S5A -l




46. Which of the following is not basic ~ 46. ~{la-tmiel 54 Wollord, yood sl

function of Packaging ? gl ?

(A) Protection . (A) &8l
(B) Performance B) sl
(C) Production (C) Geuled
(D) Promotion D) Grx-t

47. Which of the following is not a party ~ 47. Aadr 5 siqdl wle adgys-l

of buying behaviour ? waiaidl wxde adl 4l 7
(A) Influencer (A) U WSHIR

(B) User (B) GuuiaL sdl

(C) Decider (C) sl 53UR

(D) Government (D) AR

48. The techniques of measuring life 48 e sl @a-url vl Fd-d

styles of consumers is called : PRETLRT R

(A) Demographics (A) axdllavus
(B) Geographics B) «llotlds
(C) Psychographics (C) My
(D) Photographics (D) sleiausl
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49. A point of comparison for an
individual in the matter of forming
values, attitudes and behaviour is
called :

(A) Reference group
(B) Celebrity

(C) Personality

(D) T. Group

50. Societal concept of marketing is
for :
(A) Large scale selling and
promotional efforts
(B) Production as per consumer
needs
(C) Product improvement
(D) Improvement of people’s well
being '
51. The big difference between

advertising and publicity is that :
(A) Publicity

advertising is paid for

18 free and

(B) The sponsor of the advertising

is openly identified

Publicity is limited to sales of
services and advertising is used

for products and services
(D) All of the above
Comm.—III
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49. Heul, ddel A qdgsl opoidHi sis

A5 Hi2 AvUMRAL HEl &

(A) Aeol-Ayely

(B) MHg—ulZd

(C) AlEd

(D) T-AHELY

50. WIAoil wHlrs vy L

2 59,

(A) MLt Wdll Q200 249 Micdlsinil
Yyl

(B) wesi-l w3RuUld g2 Gewig

(C) Uelal YAl

M) disi-l YrusAai yal

51. Ad2Ud 2 [Astiun 4234 W2l dslad

¥ 0%

(A) [Astud 4sSd & A AMeUd 12
Ysqdl S 9

(B) #e2ldl 3ul-=u34 yedl 1d
ARl usty

(©) [astiu- Al 42 yad
AP 9 217 Adud Vel 29
Aclul M2 Guylell

(D) BGuU-L o8l %




52.

53.

54.

How many entities are involved in

regulating the financial sector in
India ?

(A) 3

(B) 5

(C) 10
D) 1

Which one of the following is not

credit rating agency ?
(A) CRISIL

(B) Moody’s

(C) IRDA

(D) ICRA

Global depository receipts (GDRs)

are 1ssued M. ...occeemnereaesn market.
(A) Inciian capital

(B) US capital

(C) Euro

(D) Australian capital

Comm.—I1I
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52.

53.

b4.

all2ddl yedl Wil glal -ustisly

sl u sl 2ud 8 7
(A) 3
(B) &

(C) 10

D) 1

1A ALuil 3.6 $8le 22[aL ¥aul
(Jog=al) el ?

(A) CRISIL

(B) Moody’s

(C) IRDA

(D) ICRA

sdioid Sluidlel Fdlven (GDRs)

(oL GlsLR ULSALML 19

(A) eiedla sl
B) 15 48l
(C) Yzl

D) iplau-t ysl
[P.T.O.]




55.

56.

o7.

FCCBs stands for -

~ (A) Foreign Capital Convertible

Bonds

(B) Foreign Currency Convertible
Bonds

(C) Foreign Currency Capital
Bonds

(D) Foreign Capital Currency

06.

Bonds

(A) Stock Exchange
(B) Credit Rating Agency
(C) Regulatory Agency

(D) Bank

Which one of the following is not 57,

money market inétrument e
(A) Certificate of Deposit
(B) Commercial Paper

(C) Treasury Bill

(D) Debenture

Comm —III 26

FCCBs 224 :.

(A) [aesll 48l 3uidRd olivsy
B) (Qeall ydwl 3uidRd ollwsy
(©) [aeell 2ae ygl ofi-cy

(D) [agsll 48l aaw ofi~sy
Aofl (SEBI)
(A) AR oR
(B) $8l2 2oL ~rel (Bog=f])
(©) Fua-sia e (Aep=adl)

(D) 6ls

il sy A aog wen
9l ?

(A) uelslse 2ls Sliife

B) siuRlya quz

(C)- 2352“1 [Gle

M) (8ol




58.

59.

60.

A written statement of the human

qualification, education and

experience needed to perform a job

is referred to as :
(A) Job design

(B) Job description
(C) Job specification
(D) Job enrichment

The Differential Piece Wage Plan

is related to :

(A) Joseph Scanlon
(B) F.W. Taylor
(C) Harold Koontz
(D) James Rowan

“Human Relations Approach/
Theory” to management was

originated by :

(A) F.W. Taylor

(B) Peter F. Drucker
(C) Elton Mayo

(D) Henry Fayol

Comm .—III

59.

60.

27

Sl dlstd, [BEe wA vdeid
sid sal W2 33l 9.7 B UslRd
Altd Fded 1A~ U5l si-lL el
isd 4l 9 7

(A) sl

B) sid—agl+

(C) sid—xuvedl

D) s1i—dla

AeHlay s £925—uour gl {2l
gl sisS »is 2wl Adoiltd © -

(A) RAS el

(B) 5. .S01&y,. 24R

(C) &S §0

(D) ¥R 2id-d

Aanideedl HiAdly doia »1e0/[Rald
A3 U5l By gil daldd sl
LML 19

(A) 5.801&4. 2R
B) dler s, 9552
(C) Mear AUl
D) &l 3did

[P.T.O.]




61.

63.

VRS (Voluntary Retirement

Scheme) may be used in................ i
(A) Training Policy

(B) Exit Policy

(C) Import Policy

(D) Export Policy

Dexterity tests are used to judge

the..-. ............ .
(A) Training of the candidate
(B) Proficiency of the candidate

(C) Physical movements of the

candidate
(D) None of the above

The practice of placing a candidate

at the right job is :

(A) Selection

(B) Recruitment

(C) Placement

(D) Interview

Comm.—III
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28

Wles MR Aol Gudioy iy

Usl si§ As gzl 4 9l :
A) dulay
(B) M2 [
(C) 2ud Il
D) (s rﬂ[?t

U9l SAEAL Guyloy A1 14
SIS W5 oloid s8] sraL W2 Ay
@ E

(A) GHedlRAl qulay

(B) GHedR-l said/u@eiar

(C) GRedlRd WRRS sad—ag-
D) GuR Usl siSual «dl

GHedl uloy ooyl [Magls
2L M/l A A4 B
GLRL ANy @ -

(A) ued]
(B) ™2l
(€) ["1y3d

(D) Helsld




64. SDR’s are allocated by the :
(A) WTO
(B) IMF
(C) RBI
(D) IFC
65. Match the following items of List I
with the items of List IT and choose
the correct option from the codes
given below 1t :
List I List IT
() Ethnocentric (i) Companies view foreign
Approach market as an extension
of domestic market
(&) Polycentric (;i) Companies establish
Approach foreign subsidiary and
empowers its executives
(c) Regiocentric (i) Subsidiaries consider
Approach regional environment
for policy formulation
(d) Geocentric (iv) Companies view the
Approach entire world as a single
country
Codes :
(@ () (c) (d)
(A) (2) () @i (o)
(B) @) (i) @) (tv)
(C) (v Ga) (11) (2)
(D) (1) (111) (iz) (tv)

Comm.—I11

64.

(al

(b)

c)

1)

5. del 1 Al (&oudl

M. Sluly. (SDRs) -l stas(l s
@, 4

(A) WTO
(B) IMF

(C) RBI
(D) IFC
aiel 2 Al [@odl

A8 wvdl

el 4 el 2
weandl iBd ) Sull Redl teasid
w014 g3l son el [Axdlz

dAl% %a
cigondl Sl G Sl lac ol uelds
2i[MI1Y syl 2aludl 53 89
2 Al sLzion vt
Al 2 £
w29 e ain < [Ralze e
wi[64214 Astug Syl ey

lald e AL A 89
o1 3lad wifeom o) Suellodl wivt [asan

15 29 Als od 69

@ » (© (@
(A) (1) (1) @) (w)
B) @) G @ @)
C) (Gu) () (1) (1)
(D) (z) (iit) (1) (iv)
[P.T.O.]




66.

67.

Comm.—III

Which one of the following is not
an advantage of the fixed exchange

rate ?

(A) Protection from the risk of

uncertainty

(B) Maintenance of monetary
discipline

(C) Convenience

(D) Transient nature

The theory of comparative
advantage assumes single factor of

production i.e. :
(A) Land

(B) Labour
(C) Capifal

(D) Machinery

30

66.

67.

(A1 sl 5y RuR QFY el aiey

Y] :

(A) ARABAAdA Avnel yra

(B) Rl Al Ao

(C) 59l

(D) &lBs weyq

da-lcis Al Rgid Aetanr 2

™

% AUl seyd 53 9
(A) ¥Hl-

(B) 4

(C) sl

(D) ¥4t




68.

(a)

(b)

(d)

Match the items of List I with the

choose the

List IT

Mode of International

Functions of Inter-

national Business

items of List Il and
correct option from the codes given
below it :

List I
Importing (i)

Business

Marketing (ir)
Sales expansion  (iii)

(iv)

Economic forces

Codes :

69,

(@ (&)
(A) @) @
(B) Gv) @)
e @ @
D) (v G

Objectives of Inter-
national Business

External Influence

0 @)
() @)
@i) @
@) ()
@ @

The W.T.Q. is the embodiment of......

results and the successorto............ ;

(A) Uruguay Round, GATT

(B) Bretton Woods, GATT

(C) Uruguay Round, GARP

(D) Bretton Woods, GAAP

Comm.—III

68.

(e)

(b)

(c)

(d)

yigl 1 ¢4 dlel 2 AL u2st
AL
1€l 4 el 2

A s, @) wiazzngly gyl
U512

o5 g @) A gl daurl
534 5141
g [ s3d @) 2ld 2ivgly €4

g

C‘_\"\
o

A

_

s aBd¥l o) oUE deldl

4S :

@ & © @
A G G G @)
B G @ GG @
© @ @ @G G
D) Gv) i) (11) (1)
CWTO N e AL WML

Hdlzazuw & a4 ... -l

GuzllEs o -
(A) G392 UGS, GATT
(B) @le-qs, GATT
(C) 6394 UGS, GARP

(D) Gle-dS, GAAP

[P.T.0.]




70.

11

Comm.—III

The income which accrues and
arises outside India, from sources

situated outside India ;

(A) is exempt in the hands of all

assessees in India

(B) is chargeable in the hands of

all assessees in India

(C)

is chargeable in the hands of

resident assessees in India

1s chargeable in the hands of

(D)

non-resident assessees in India
In the case of partnership firm, if
certain conditions are satisfied
and if the profit of the firm is
Rs. 1,50,000, the amount of
remuneratioﬁ paid to partners will

be deductible upto......c..cccccoueoooeen, in

the hands of firm.
(A) Rs. 1,35,000

(B) Rs. 1,50,000
(C) Rs. 3,00,000

(D) Rs. 90,000

- 32

70.

71.

olzd ool Rud wldimidl, ed

olel BUUd 24 Geddd Ay

(A) 1L 44l % $6LAl2liAL SlaMl

5345d

(B) LAl 6141 % S eldllirl SlUHl

PRI T

(C) ™MIdl 219 SeldlliAL SldHl

53050 €9

(D) HIdAl [B—3dle se1diviAl

SlUML 52Ul 9

coflel?] ALl ARONHI, B 23y
dcll Admd 3 B Vel 51 Rs.
1,50,000- ¢la, dl &iellelzid ysdd
werdieldl 2suuidl Rs. ............

Yl suld Hual.
(A) Rs. 1,35,000
(B) Rs. 1,50,000
(C) Rs. 3,00,000

(D) Rs. 90,000




72. Match the following : 79, Al ASsL siAldl ¢

Nature of Residential Tax to be Q.L\gq:gﬂ:g AL+l wiaedl
Payment status of deducted at RA3Y [:lq.Rﬂ—ﬁ ?."591 %3 ’S"-I.I.d*fl €2
Recipie s > . = ~
ecipient sourceatthe 1y ol ) SiSUE At (@) 0%
Rate A
e Yo ey
{I' Interest on (£} Any person {a) 0% ( y o
BYAlEL
Securities
Frau)
{other than
an) 6ls FDRs YR i) wdlal eulEd 1B} 10%
exceptions}
Rs. 10,000
{I1} Interest upto i) Resident person b1 10%
Yl e
Rs. 10,000 on
i elle? REerl in SIOUR A l3d (e} 20%
Bank FDRs
E i "jL -
{11I) Commission ete. (iif) Any person le) 20% SRR
: 2
on sale of lottery Ba..1,000 0l
tickets exceeding ) C{% slHar
Rs. 1,000 av) NssAsBd e 2éla culid (d) 10%
(IV) Payment regarding (iv) Resident person (d) 10% Rs. 2,500 ¢f|
NSS exceeding q%rﬂ Qi_\gq@ﬂ
Rs. 2,500 5}‘5 §
Codes :
. (D (InH Jdimn av

Iy an dm av)
(A) (v-b) Gi-a) Gii-d) (i-c)
(B) (Gi-a) (v-b) (@-c) C(ii-d)
(C) G-b) (ii-e) (ii-a) (iv-d)
(D) (Gii-e) G-a) (i-b) (v-d)

(A) (v-b) Gi-a) Gii-d) (i-c)
(B) (i-a) Gu-b) () (ii-d)

(C) @G-b) (ie) Git-a) Guv-d)
D) (i) Ga) G-b) (v-d)
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73.

Match the following and choose the
correct option from the codes given

73.

2L %S5l St

e .;\ } .' a3
bl & M uadl 21as | (@ 52929l
(I) Concealment of (@ Tax Avoidance (ID) sHel- GedEA [Ran  (B) s AAEA
HCae 52 el s
(II) Artof dodging tax (b) Tax Management ) _ .
without breaking the A sl e uzysl @ 1Rl
law 530 s34l eisl sdl
(IIT} Reducing tax liability (¢) Tax Evasion V) sl sl @) s2—wudione
by fulfilling intentions .
o AL, W
(IV) Compliance with (d) Tax Planning £S - .
statutory provisions @ In Iy avy
of law
Codes : A (@) (e) () (d)
I dn Jdan (av) B) ®) (@ (c) (@)
(A) (a) (c) b) (d) . '
_ C d (b
® ® @ © @ S
(C) (c) (@) (d) (b) (D) (d) ®) (a) ()
D @ b) (a) (e) LA ; .
74. ‘AR i G4LSL US YA’ AL A%RouHl
74. In case of sale and lease back, the : ' % . "
actual cost of asset for claiming GUSLHE ALNAUIR-AL AINSIHL HALRL
depreciation in the books of lessor ARl Hie Masddl wAw ysdz
will be : edl
(A) Amount paid to seller of an N
asset (A) (Hasd da-i 3sde 354
(B) Fair market value of an asset tB) Fasd WL aFla ﬁ{(ﬁ—t&d-\-j’
on the date of purchase of an 1906 G{%Q_i@
asset
(C) Written down value of an asset (C) AU AuSIHL (retscd sl
in the books of the seller Yey
(D) Total amount of the lease
¢ 2 & e
rentals receivable over the life @) [asd-u -U{t{-i 4 BRI g4
of the asset HAQIUL Mg
34
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75. In case where capital-asset is

converted to stock-in-trade, and

when stock-in-trade is sold, the

amount chargeable to tax will be :

(A)

(B)

(C)

D)

only the amount of difference
between sale price and fair
market value as on date of
conversion under the head
from

Profits and Gains

Business or Profession

difference between fair market
value as on date of conversion
and cost of acquisition or
indexed cost of acquisition as
capital gains and difference
between sale price and fair

market value as on date of

_conversion as Profits and Gains

from Business or Profession

Difference between sale price
and cost of acquisition as capital

gains

Difference between sale price
and cost of acquisition as Profits
and Gains from Business or

Profession.

Comm.—III
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75. gl 4ol-Mldsda Wis—S1-gsHl

JULAR A sl 2, 2 FUR SIE

~ -2 A UM AR sWA

AU el

(A)

(B)

(&)

@)

Qapel—FHd 24 3uidR -l v
y2g0f], —ol7 R HE ARAAL dslad,
day aal auudl sl wudl

el dirls dsu

auid~l dRlvl cyoll—
oo e ir WTE—USAR AUl
YusiBd wle—usda-il dglad
ydl-alel dly 2 duel [54d

HA 3uid~dl alRlvl el

ool e 42l dsleld dal Yl

el st aul dei Qels

-

26Ul

qaEad @A we—usdr-l

aslad 3ol ale a3
Qael—Ead A vle—usd-il
aslad bl vl aaudl st

qar e olls dsa
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ROUGH WORK
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